mm LEFT WING
WWAND TRAILER HINGE CONN.\

/\ CAST IRON 2023 (WEBB) 10 LUG WHEEL HUB

/ STEMCO 340—-5096 VENTED HUB CAP OR EQUAL

| H—N m LEFT WING
2 \EAE

1 3/4" DIA. SPINDLE W/ HUB WELDED TO 1" PLATE

BORE PLATE; SET SPINDLE TO PLATE
& WELD IN PLACE

/6 WHEEL CONNECTION PLATES

\y 3/4” STEEL PLATED WELDED TO FRAME
BOLT TO PLATE W/ HUB SPINDLE
WITH 3/4" DIA. BOLTS
3/4" DIA. BOLT HOLES THRU EA. PLATE

[ 4\ TRALER CONN. PLATE

3’ sSQ. STRL. STL. TUBE
3/8" WALL THICKNESS

&/ —

N CORNER BRACE

&
PLAN

/3\ A LEFT HINGE PLATE

(4 TRAILER v
W CONN. PLATE o

NOTES:

USE 255-70-22.5" TRUCK TIRES
——\/\—— W/ LOAD RANGE E OR F

2023 CAST HUB (WEBB) NO ABS
10 LUG WHEEL HUB

S

C LEFT HINGE PLATE

{3\ B IFFT HINGF PIATF

EUCLID WHEEL STUDS 10 E571BR
----- TIMKEN BEARINGS VCTJ 1 3/4"
SKF SEAL (E571BR) OR EQUAL

STEMCO 340-5096 VENTED HUB CAP

4" SQUARE STRUCTURAL
STEEL TUBING W/

1/2" WALL THICKNESS

/6 \WHEEL CONN. PLATES

&

WHEEL PLATE

ELEVATION

/1 MAIN LEFT WHEEL & AXLE

\5_/ RIGHT WHEEL SIMILAR

2\ WHEEL PLATE

“““““““““““ — STEEL PLATE——1/2"x4"
WELD TO HOR. 4" STL SQ STR. STL

& 4” STL TUBES FROM WHEEL

&/

4" SQUARE
STRUCTURAL
STEEL TUBING

_~——5/8" X 4" STEEL
PL WELD TO 4” TUBE

3" SQUARE STRUCTURAL
STEEL TUBING

1/2" STEEL PLATE AT
EA. CORNER
WELD IN PLACE

3\ CORNER BRACE (TYP.)
&/

3/4" STEEL PLATE
/ WELD TO TUBE
M '/\ 2" DIA. COLLAR WELD
TO PLATE

12\1' DIA PIN W/ SAFETY —

CHAIN ATTACHED

4" SQUARE STRUCTURAL ———
STEEL TUBE

SAFETY CHAIN ATTACHED
TO PIN AND TUBE

WING—DRILL CONN.

¢

3/4” STEEL PLATE
WELD TO FRAME

3/4" DIA. BOLT HOLES
THRU EA. PLATE

SPINDLE W/ HUB °

3/4" STEEL PLAW
WELD TO

FRAME PLATE
<]

FRAME PLATE SPINDLE PLATE

e\WHEEL CONN. PLATES
NEW

A

REV. NO. DESCRIPTION DATE | APPROVED

UNITED STATES DEPARTMENT OF THE INTERIOR
BUREAU OF LAND MANAGEMENT

BURNS DISTRICT OREGON
THREE DRILL CART
PROTO-TYPE
DETAILS 1
DESIGNED
REVIEWED
APPROVED
CHEEF, BRANCH OF ENGINEERING OR DISTRICT ENGINEER
DRAWN: GG SCALE: AS SHOWN
ACAD2006 DATE: 08/21/07 SHEET 5 OF 8

DETAILS—1AS BUILT DRAWING NO.



